Circling Trains	





Use the geometry software supplied with this packet to do this problem.


A company that designs amusement parks has come up with the following scheme for designing such parks in a modular way.


Locate three major attractions in a way that is well suited to your land conditions. Connect each pair of attractions with a straight walking path, and place all three attractions on a circular railroad track.
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In order to expand the park, you double the length of each walking path as shown in the diagram. At the end of each of these extended walking paths you place another attraction. You connect each pair of new attractions with straight walking paths and a circular railroad track on which all three new attractions lie.


Clearly it would not be safe if the walking paths connecting the new attractions intersected the circular railroad track linking the three original attractions. Discuss the conditions under which this scheme can lead to a safe expansion of the amusement park.
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